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B.B.A./B.COM.I.S.M. DEGREE EXAMINATION, APRIL 2016.
II YEAR — IV SEMESTER

Major Paper VIII  — ACCOUNTING FOR MANAGERS - II
Time : 3 hours
    


Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.
1. What is meant by Budgetary Control?

2. Define Cost Accounting.

3. What do you mean by Prime cost?
4. State the elements of cost.
5. Explain the meaning of breakeven point.

6. What is Variance analysis?

7. Calculate the Raw Material consumed from the following details:

Raw Material purchased
                
  80,000

Sale of Material scrap

                      1,000

Opening stock of Raw Materials

  10,000

Closing stock of Raw Materials

  21,000
8. Prepare a Cost Sheet from the following:

Direct materials                ` 50,000

Direct wages                     ` 15,000

Factory expenses
      `   5,000

Office expenses 
      `   1,000

Selling expenses
      `      500

9. Sales     

` 4,00,000

Variable cost
` 3,00,000

Fixed cost 
` 40,000.

What is the P/V Ratio?

10. Profit required:        `2,00,000

Fixed cost:               `4,00,000

P/V Ratio:                40%

Find out the required sales to earn the profit required.

11. Present sales  `1,00,000

Variable cost ` 60,000

Fixed cost      ` 20,000

Ascertain Break-even point after the effect of 10% reduction on selling price.

12. Ganesh purchased and used 800 tons of a chemical at `40 per ton where as the standard price fixed was `48 per ton. Calculate material price variance.
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.

13. Explain the objectives of Cost accounting.

14. Differentiate between Management accounting and Financial accounting.

15. You are required to prepare a Production Budget for the half year ending June 2000 from the following information:

	Product
	Budgeted Sales quantity Units
	Actual stock on 31-12-99
(in Units)
	Desired stock On 30-06-2000
(in Units)

	S
	20,000
	4,000
	5,000

	T
	50,000
	6,000
	10,000


16. During the year 2014, Ram Ltd., produced 50,000 units of a product. The following were the expenses:

	
	`

	Stock of raw materials on 1-1-2014

Stock of raw materials on 31-12-2014

Purchases

Direct wages

Direct expenses

Factory expenses

Office expenses

Selling expenses
	   10,000

   20,000

1,60,000

   75,000

   25,000

   37,500

   62,500

   25,000


You are required to prepare a cost sheet showing cost per unit and total cost at each stage.

17. From the following information relating to Mohan bros. Ltd., you are required to find out
(a) P/V Ratio 
(b) Breakeven point
(c) Margin of Safety 
	
	`

	Total fixed costs

Total variable cost

Total sales
	  4,500

  7,500

15,000


18. The following particulars are obtained from the records of a company manufacturing two products P and R.

	
	Per unit

	
	Product ‘P’(`)
	Product ‘R’(`)

	Selling price
	200
	400

	Material cost (`20 per kg)
	40
	100

	Direct wages (` 6 per kg)
	60
	120

	Variable overhead 
	20
	40



Total fixed overhead is `10,000


Comment on profitability of each product when production capacity in hours is the limiting factor.

19. The budgeted and actual sales of a company producing and selling a single product are as follows: 


Budgeted sales 25,000 units at `6 per unit


Actual sales      30,000 units at `6 per unit

Calculate : 


(a) Sales value variance 
(b) Sales price variance 
(c) Sales volume variance
SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions.

20. What is Cost Accounting? Explain its advantages.

21. Prepare a Flexible budget for overheads on the basis of the following data. Ascertain overheads rates at 50%, 60% and 70% capacity.

	
	At 60% capacity

`

	Variable overheads

Indirect material

Indirect Labour

Semi-variable overheads

Electricity(40% fixed, 60% variable)

Repairs(80% fixed, 20% variable)

Fixed overheads

Depreciation

Insurance

Salaries
	6,000

18,000

30,000

3,000

16,500

4,500

15,000

	Total overheads
	93,000

	Estimated labour hours
	1,86,000


22. The sales turnover and profit during two years were as follows:

	Year
	Sales

`
	Profit

`

	1991

1992
	1,40,000

1,60,000
	15,000

20,000


Calculate:

(a) P/V Ratio

(b) Break – even point

(c) Sales required to earn a profit of ` 40,000.

(d) Fixed expenses

(e) Profit when sales are ` 1, 20,000.

23. Calculate labour variance from the following data:
A factory worked for 6,000 labour hours during a week. 200 hours were wasted due to power failure. The sundry works done by the workers were equal to 6,400 standard hours. The standard rate per hour was `15.    The actual wage rate was `20 per hour.
——————
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